

Home Search Collections Journals About Contact us My IOPscience

Circularly inhomogeneous fluids. Percus–Yevick hard disks: osmotic coefficients and triplet correlations

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2007 J. Phys.: Condens. Matter 19 376103 (http://iopscience.iop.org/0953-8984/19/37/376103) View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 129.252.86.83 The article was downloaded on 29/05/2010 at 04:40

Please note that terms and conditions apply.

J. Phys.: Condens. Matter 20 (2008) 099801 (1pp)

Retraction

Circularly inhomogeneous fluids. Percus–Yevick hard disks: osmotic coefficients and triplet correlations

R Khordad, F Taghizadeh and M Moradi 2007 J.Phys.: Condens. Matter 19 376103

It has come to the attention of IOP Publishing that this article should not have been submitted for publication because it plagiarises the text of an earlier paper (P Attard 1989 Spherically inhomogeneous fluids. I. Percus-Yevick hard spheres: osmotic coefficients and triplet correlations *J. Chem. Phys.* **91** 3072 (1989)) although the results are different. Therefore, this article has been retracted by IOP Publishing.

J. Phys.: Condens. Matter 19 (2007) 376103 (10pp)

ho

E-n

Re

Pub

Online

doi:10.1088/0953-8984/19/37/376103

Circulate cinhologeneous fluids. Percus–Yevick hard directory of the construction of t

F Taghizadeh² and M Moradi²

Department of Physics, Yasouj University, Yasouj 75914-353, Iran Department of Physics, College of Sciences, Shiraz University, Shiraz 71454, Iran

d@mail___ac.ir and moradi@susc.ac.ir

.007

7, in final form 28 June 2007

.iop.org/_____CM/19/376103

Abstract

ved 7

red 2

circularly For fluids etric external field, it is shown that the two-Z) convolution integral becomes a simple dimensional nstein algebraic equation ng the ro onally invariant basis in two dimensions. Applying the usual closure relations, the full inhomogeneous pair correlation functions become available. Th hod is here applied to a bulk uniform ir Percu fluid of hard disks, usin Yevick (PY) closure, but at the triplet level in the hierarchy of astrib on fun ons. Consequently, the obtained pair distribution function a the ost ficient are better than the pervious results.

1. Introduction

The properties of bulk fluids are well understood to the two-particle time. A popular and routine procedure is based on the Ornstein–Zernike $(\bigcirc a)$ integrating time from (in two or three dimensions), closed with some approximate relation between the correlation functions. Only recently have inhomogeneous fluids in planar geometry between the correlation at a unitar level [1–8].

The direct correlation function (DCF) plays an portant in describing the thermodynamical properties and the structure of simple and component fluids in two and three dimensions [9-13]. This function, together with the pair function. constructs the OZ equation [14]. This integral equation [15] can be s using at propriate approximation to obtain the DCF of many kinds of fluids [16-<u>|</u>. The met of OZ convolution integral factors, in three or two dimensions, makes the k systems eas to study.

The properties of a fluid in the vicinity of an isolated circularly symmetric pernal field can hence be described fairly accurately. The Hamiltonian which spectrum system and so only to depend on the positions of pairs of fluid particles via the two radial coordinated with mutual angle. The inhomogeneous (anisotropic, translationally variant) pair of a lations cabe calculated explicitly. The results obtained by this method are at the two particle level, and should be distinguished from the essentially single approaches which use integral equations

0953-8984/07/376103+10\$30.00 © 2007 IOP Publishing Ltd Printed in the UK

for a bulk mixture, even though the components are highly asymmetric in size, charge, or concentration.

A particularly interacting possibility is to consider the circular inhomogeneity to be itself a particle of the Bertawach must be specified by a circularly symmetric pair potential). The consequent is the ogeneous elensity profile corresponds to the pair distribution function of the bulk fluid

vided into o parts. In the following section the circularly inhomogeneous s paper fluid problem is t shown that the two-dimensional OZ equation is transformed ulated. he rotationally invariant basis in two dimensions. These render to an algebraic e feasible the co tations in the general case. Examples of closures for the inhomogeneous correlation f ons and equations to determine the density profile are given in circular geometry. second s specifically with hard disks and the Percus–Yevick (PY) (TZ) equation for the profile is applied to this fluid with a closure. The reize Zwan hard-disk inhomo e results are discussed. eity inally,

2. Circular inhomeneous

2.1. Factorization of the OZ equation

Consider a classical fluid interact the Hamiltonian consists only of one- and two-body terms. A circularly inhomogeneous system is contractively the external potential V(r) depends only on the distance from the origin $p_{1}(r)$, an the pair potential $u(r_1, r_2, \theta_{12})$ depends on the particles' radial coordinates and mutual angle. This contains circularly symmetric pair potentials such as a hard disk. The inhomogeneous per and two-particle distribution functions exhibit the same symmetries as the Hamiltonian.

m

The OZ equation in two dimensio

$$h(r_1, r_2, \theta_{12}) = c(r_1, r_2, \theta_{22}) + (r_1, r_3, \theta_{13})\rho(r_3)h(r_3, r_2, \theta_{32}),$$
(1)

where $h \equiv g - 1$ is the total correlation for a on, g is the radial distribution function, c is the DCF, and ρ is the singlet density proble. The nace open time polar coordinates is $d\mathbf{r} = r dr d\theta$.

Now use the rotationally invariant basis in ty-dimensions a

$$f(r_1, r_2, \theta_{12}) = f(1, 2) = \sum_{m, n = -\infty}^{\infty} \int (-\tau r_2) \Psi^{mn}(\theta, \theta)$$
(2)

11

re given b

where f is an arbitrary function and the invariants $\Psi^{mn}(\theta)$

$$\Psi^{mn}(\theta_1, \theta_2) = e^{i(m\theta_1 + n\theta_2)}.$$
(3)

These invariants are orthogonal and the projections (or the expression coefficients) f^{mn} can be written as

$$f^{mn}(r_1, r_2) = \frac{1}{4\pi^2} \int_0^{2\pi} d\theta_1 \int_0^{2\pi} d\theta_2 f(r_1, r_2, \theta_{12}) \Psi^{\prime}(\theta_1, \theta_2).$$
(4)

We expand the correlation functions in equation (1) and use the orthogonality evaluation variants to achieve the desired factorization:

$$y^{mn}(r_1, r_2) = h^{mn}(r_1, r_2) - c^{mn}(r_1, r_2)$$

= $2\pi \sum_{m'=-\infty}^{\infty} \int_0^{\infty} r_3 \, \mathrm{d}r_3 \, \rho(r_3) c^{m, -m'}(r_1, r_3) h^{m', n}(r_3, r_2),$ (5)

2

3

where $y \equiv h - c$ is an auxiliary function. Since the correlation functions, and thereby the integrand, decay rapidly to zero, the upper limit of the integral can be made finite. In equation (6) we use m'-5 to 5 in our calculations.

2.2. Clos profile re ons

equatio unknown functions-the density, the inhomogeneous direct Th ontains th Thus, two more equations are required. There are several and total correlation functio the correlation functions which do not depend on translational approximate clo invariance and hence be applied directly to the inhomogeneous problem. Two common examples are

$$\{r_2, \theta_{12}\}\{1 - \exp[\beta u(r_1, r_2, \theta_{12})]\},$$
(6)

and the hypernett hair

h(

 $(r_{2}, \theta_{12}) - c(r_{1}, r_{2}, \theta_{12}) - \beta u(r_{1}, r_{2}, \theta_{12})] - 1.$ (7)

temperatur *u* is the pair potential.

Here $\beta = \frac{1}{k_{\rm B}T}$ is the next temperature several exact equations related ty profile to the external field V [22–27]. One of e these popular equations invol e total correlation function [22, 23]:

$$\nabla \rho(\mathbf{r}_1) = -\beta \rho(\mathbf{r}_1) \nabla V(\mathbf{r}_1) \quad \beta \rho(\mathbf{r}_1) \quad z_T \quad h(\mathbf{r}_1, \mathbf{r}_2) \nabla V(\mathbf{r}_2).$$
(8)

For circularly inhomogeneous s stems, this reads

 $(2, \theta_{12})$

$$\rho'(r_1) = -\beta \rho(r_1) V'(r_1) - \beta \rho(r_1) \int_0^\infty \int_0^{2\pi} dr_2 d\theta_2 V(r_2) h(r_1, r_2, \theta_{12}) \cos \theta_{12} V'(r_2)$$

= $-\beta \rho(r_1) V'(r_1) - \pi \beta \rho(r_2, r_2) \int_0^\infty r_2 V(r_2) h(r_1, r_2) h(r_2,$

where the prime denotes differentiation with resp o argumen The boundary condition is that the profile should equal the bulk density at la er.

Note that the closures constitute an approxim k case, whereas the OZ and on, as in the only approxima TZ equations are exact. However, the closure is oduced (besides those necessary for the numerical solution of the pa the inhomogeneous m) and problem can be solved with an accuracy comparable to that y achi eved in k. In fact, ane fluid, the for the case when the circular inhomogeneity is a particle sure is applied at the triplet level, one step higher in the hierarchy of distri Aence one expects better results for this problem than the usual bulk formulation

3. Percus-Yevick hard disk

3.1. Hamiltonian, profile and closure

The method derived above will now be illustrated by application to a h aid. Thi iid is a suitable test case in two dimensions. The results give some information on the of the procedure, and hopefully provide new perspectives on the behavior correlatio functions. The actual data obtained may be applied to other fluids in two dhe assions using the hard-disk fluid as a reference.

(13)

(18)

ation is

Atoms of a hard-disk fluid interact via a pair potential

$$u(r_1, r_{12}) = \begin{cases} \infty, & r_{12} < d \\ 0, & r_{12} > d, \end{cases}$$
(10)

stance b where r_{12} een the particles and d is the hard-disk diameter. Now consider a hardof diamet and fixed at the origin. This causes an external potential rfi

$$r < S$$

$$r > S,$$

$$(11)$$

where S = (dD)/2. At this time in the analysis, take $D \neq d$. However, when D = d, the fixed particle ust one of the particles of the fluid. Fir

r ·

$$\rho_{\rm c} (f \neq \rho_{\rm c}) e^{\beta V(f)} \tag{12}$$

and note that $-\delta(r-S),$

where
$$\delta(r)$$
 is the Dirac delta function (9) becomes

$$\rho'(r) = \rho_{\rm c}(p_{\rm c}(r-S) + \pi \rho(r))\rho_{\rm c}(S)S[h^{1-1}(r,S) + h^{-11}(r,S)].$$
(14)

This may be integrated to y

$$\rho(r) = \rho(R) + \rho_{\rm c}(S)S \int_{R} dr' \rho(r')[h^{1-1}(r',S) + h^{-11}(r',S)], \qquad (15)$$

where $\rho_{\rm c}(S) = \rho(S^+)$ is the contact and R some large radius (several hard-disk diameters) after which bulk properties be as

For a hard-disk fluid the PY closu equation mes

$$c(r_1, r_2, \theta_{12}) = 0,$$
 (16)

which is supplemented with the exact result

$$g(r_1, r_2, \theta_{12}) = 0, \qquad r_{12} < d.$$
 (17)

This is closure to be used for the present problem ll for a bulk hard-disk fluid ince it works where the results exist [28-33].

3.2. Osmotic coefficient and compressibility

Results will now be presented for a bulk two-dimension uniform fly hard-disks, i.e. are at the triplet level, D = S = d. Since, in this case, the method corresponds to sing the we shall designate our results 'PY3' to distinguish them from malytic solution of the PY closure for the bulk pair correlation ('PY2').

The osmotic coefficient is related to the pressure by

$$\phi = \frac{p}{\rho k_{\rm B} T},$$

where ρ denotes the bulk density. For hard disks in two dimensions the

$$\phi_{\rm v} = 1 + 2\eta g(d^+)$$

$$\eta \equiv (\pi/4)\rho d^2$$

4





is the only parameter require the specify the bord-disk fluid nontrivially. In the circular system when the inhomogeneity is an atom of the studied with the one-particle distribution (the density profile) corresponds to the pair distribution function at context is here

$$g(d^{+}) = \rho_0(d^{+})/\rho,$$
(21)
where the subscript indicates that the superpole is a put an atom fixed at the origin.
One can also calculate the osmotic coefficient via the compressibility relation

$$\phi_c = \frac{1}{2} \int_{-\infty}^{\rho} \frac{d\rho'}{d\rho'},$$
(22)

$$\phi_{\rm c} = \frac{1}{\rho} \int_0^{\tau} \frac{\mathrm{d}\rho}{\rho' k_{\rm B} T \kappa_T},\tag{22}$$

where the isothermal compressibility κ_T is given by

$$\rho k_{\rm B} T \kappa_T = [1 + \rho \tilde{h}(0)] \equiv 1 + \rho \int d\mathbf{r} h(r).$$
(23)

The Carnahan–Starling (CS) equation of state for the hard-disk fund

$$\phi^{\rm CS} = \frac{1}{(1-\eta)^2}.$$

Table 1 compares the osmotic coefficient calculated by an different there odynamic routes: compressibility and virial, with Monte Carlo (MC) result. It is many to that the PY3 virial performs better than the PY2, being in closer agreement with the reallations. The PY3 virial and compressibility results are also more consistent than the late.

The compressibility osmotic coefficient is less reliable at high radensities, the radial distribution function decays more slowly at higher couplings, and it becomes encedingly difficult to calculate the isothermal compressibility with numerical couracy. This is evident from the data in table 2, and is the reason that values for κ_T are not usually allable in numerical schemes.

The fundamental reason why PY3 performs better than PY2 is because the art of the closure is used at a higher level in the hierarchy of distribution functions. The little etween the triplet and pair levels is the exact profile relationship. The computations are more demanding than the usual bulk numerical procedures (in general).

5

(24)



3.3. Pair and triplet distribution functions

We use equations (5), (6) and (15) simultaneously to obtain the results are as the expansion coefficients of the correlation functions and the density proces.

Figure 1 displays a comparison of the bulk radial distribute function given by the MC, PY2, and PY3 approximations. In the latter approach, $g(r) \equiv \rho_0(r)/r$ to come what follow the pronounced oscillations of the function quite accurately (and set to what better can PY2). Lengths here and below are in units of the hard-disk diameter *d*. You us of g(r) are abulated in table 3 on a coarse grid in the x-y plane. A direct comparison between PY3 d PY2 is possible from the values below and above the diagonal respectively.

The inhomogeneous pair correlation function calculated in the Proveneme, $p_1 = p_2$ gives, when multiplied by ρ , the probability of finding an atom at \mathbf{r}_2 , given atom r_2 , and the origin. Hence, it is simply related to the bulk triplet correlation function p_2

$$g(0, \mathbf{r}_1, \mathbf{r}_2) \equiv g(r_1)g(r_2)g_0(\mathbf{r}_1, \mathbf{r}_2).$$

6

Table 3. Radial distribution function $g(r)\mathbf{r} = x\mathbf{i} + y\mathbf{j}$: PY3 (on and below) and PY2 (above) the diagonal x = y, for $\rho d^2 = 0.794$.

	0	0.25	0.50	0.75	1.00	1.25	1.5	1.75	2.00	2.25	2.50
0	.0.	0.000	0.000	0.000	4.261	1.662	0.630	0.759	1.385	1.352	0.832
0	0.000	0.000	0.000	0.000	3.991	1.011	0.541	0.633	1.481	0.812	0.722
2	0.000	00	0.000	0.000	3.061	0.732	0.550	0.769	1.455	0.846	0.735
0	0.000	0	0.000	0.000	1.012	0.653	0.550	0.891	1.501	0.875	0.672
1.0	4.231	4 5	3.031	1.328	0.743	0.650	0.859	1.475	1.225	0.901	0.792
1.	642	.5	0.751	0.593	0.662	0.509	1.490	1.469	0.875	0.751	0.779
1	6	J.560	0.555	0.540	0.882	1.493	1.235	1.040	0.971	0.943	1.003
	0.753	0.655	0.779	0.853	1.481	1.473	1.041	0.951	0.972	0.987	1.025
00	1.398	1.501	1.495	1.515	1.311	0.885	1.012	0.969	0.959	0.984	1.025
2.25	12		0.864	0.881	0.988	0.961	0.955	0.981	1.029	1.028	1.005
2.50		0.76.	0.753	0.680	0.801	0.887	1.005	1.021	1.023	1.002	0.988
2.75	0.7	0.694	702	0.816	1.007	1.024	1.025	1.015	0.995	0.985	0.990
3.0	1.025	.023	022	1.029	1.027	1.017	1.003	0.991	0.986	0.991	1.001
3.2.	1.142	121	1.081	1.004	1.000	0.995	0.986	0.988	0.996	1.004	1.007
3.50	9.988	0	0.98	0.0	0.990	0.995	1.002	1.007	1.007	1.007	1.002
3.75		0.992	0.996	2	0.997	1.004	1.002	1.002	1.001	1.005	0.997
4.00	1.004	1.004		203	1.005	1.006	1.003	1.000	0.997	0.996	0.997
4.25	1.001	10	1.003	1.001	1.002	0.995	0.997	0.995	0.997	0.997	0.996
4.50	0.990	11	0.999	0.00	0.985	0.995	0.998	0.996	0.995	0.999	0.998
4.75	0.995	998	0.998	_	1.007	1.001	1.002	1.003	1.002	1.001	1.001
5.00	1.001	0.998		1.001	001	1.002	1.001	1.001	1.001	1.000	1.002

The triplet distribution function approach party only then all of the trio are far apart. The Kirkwood superposition proximition [12] consists of approximating the inhomogeneous pair correlation every there by a bulk orm,

(26)

can be made from the data

) in table 3.

This approximation is exact asymptotically then approximate three atoms is far separated from the others.

A direct and extensive test of the superposition approximation in tables 4 and 5. These contain $g_0(\mathbf{r}_1, \mathbf{r}_2)$ on the me mesh as

 $g_0(\mathbf{r}_1,\mathbf{r}_2)\approx g(r_{12}).$

Figure 2 gives the PY3 radial distribution function g(r) at the definition = 0.730. These are compared to the triplet correlation function $g(0, \mathbf{r}_1, \mathbf{r}_2)$ for isocert usingle configurations, $(r_1 = r_2 = s, r_{12} = r)$, divided by $g(s)^2$. This ratio (which r_1 just $g_0(\mathbf{r}_1, \mathbf{r}_2)$ happroaches g(r) for large *s* or large *r*, as is to be expected from the asymptotic nature of the superposition approximation.

4. Conclusion

In this paper a method has been given for treating circularly inhor geneous syste s, in two dimensions, with integral equation theories. The full inhomogeneou pair correlati unctions are available from the procedure. That the approach is practical was onstrate the results obtained for a hard-disk fluid. Those data were more accurate than whe e pair e ure is used in the usual bulk formulation of the problem, evidently because the apis being applied at a higher level in the hierarchy of distribution functions 10rmalis introduced in this paper allows application of this principle to more general fluids, in two dimensions, and arbitrary closures, and at a further level (the triplet level) in the hierarchy,

			8 (0, 1	,,		1	(-)))		017211		
	0.0	0.25	0.50	0.75	1.00	1.25	1.5	1.75	2.00	2.25	2.50
0					2.198	1.190	0.684	0.998	1.366	1.259	0.833
-0					2.488	0.678	0.547	0.696	1.495	0.761	0.722
0					2.742	0.762	0.582	0.702	1.425	0.856	0.746
0				0.000	2.122	1.142	0.600	0.703	1.444	0.951	0.692
1.0	0.000	0	0.000	0.000	2.890	1.412	0.838	1.170	1.209	1.030	0.805
1.	000	5	0.000	0.000	2.996	1.144	1.254	1.158	0.959	0.896	0.761
1	0.	.000	0.000	0.000	2.446	1.581	0.829	0.869	1.157	1.054	1.067
	0.000	0.000	0.000	2.391	1.663	1.127	0.761	0.966	1.183	1.015	0.934
00	3.012	2.845	2.138	1.543	1.062	0.633	0.931	1.146	1.084	0.926	0.946
2.25	1,52		0.816	0.711	0.813	0.886	1.020	1.143	1.014	0.939	0.975
2.50		0.657	<mark>).623</mark>	0.571	0.767	0.975	1.146	1.024	0.942	0.952	1.010
2.75	J.67	0.582	629	0.818	1.110	1.112	1.014	0.947	0.945	0.992	1.032
3.0	1.082	089	.05	1.104	1.056	0.990	0.948	0.952	0.992	1.028	1.025
3.2.	1.068	76	.099	0.992	0.967	0.957	0.966	0.999	1.029	1.025	0.998
3.50	970	0.	0.961	0.0	0.969	0.991	1.019	1.034	1.020	0.997	0.985
3.75	6.	0.974	0.976	1	1.006	1.023	1.019	1.005	0.990	0.990	0.991
4.00	1.016	1.014		18	1.018	1.011	0.998	0.989	0.987	0.994	1.004
4.25	1.010	1.0	.009	1.002	0.998	0.991	0.988	0.994	0.999	1.004	1.005
4.50	0.986	.0	0.993	0.99	0.990	0.991	0.998	1.002	1.005	1.006	1.001
4.75	0.992	92	0.996		1.001	1.003	1.005	1.005	1.001	0.998	0.995
5.00	1.002	1.002	1	1.004	04	1.003	1.002	0.999	0.998	0.997	0.998

Table 4. Inhomogeneous pair correlation function $g_0(\mathbf{r}_1, \mathbf{r}_2)$, as a function of $\mathbf{r}_2 = (x, y)$, with one disk fixed at the origin (0, 0) and the second at $\mathbf{r}_1 = (0, 1)$, and $\rho d^2 = 0.794$.

Table 5. Same as table 4, but with $\mathbf{r}_1 = \mathbf{k}$

	0.00	0.25	0.50		1.00	5	1.5	1.75	2.00	2.25	2.50
0.00					69	58	0.813	0.935	1.258	1.266	0.882
0.25					2		0.768	0.816	1.350	0.736	0.765
).50					-10	0.667	0.791	0.913	1.314	0.810	0.780
).75				0.	0.644	0	740	0.920	1.372	0.897	0.735
1.00	0.960	1.010	1.122	1.168	0.89	.073	0 2	1.318	1.115	0.959	0.868
1.25	0.805	0.840	0.880	0.950	0	0.807	1.4	1.299	0.809	0.882	0.838
1.50	0.781	0.775	0.771	0.772	17	1.484	1.2	1.043	0.968	0.943	1.131
1.75	1.302	1.254	1.045	0.660	14	1.180	1.	1,113	1.038	0.948	0.976
2.00	3.118	3.010	2.372	1.748	1.	0.643	0.932		.060	0.936	0.959
.25	0.000	0.000	0.000	2.326	1.401		0.766		1.136	1.015	0.954
2.50	0.000	0.000	0.000	0.000	1.923	0.992	0	0.87	1.106	1.052	0.988
.75	0.000	0.000	0.000	0.000	2.676	1.32	.012	0.838	1.068	1.074	0.964
3.00	0.000	0.000	0.000	0.000	3.000	1.	0.831	0.82	963	1.079	0.967
3.25	0.000	0.000	0.000	0.000	2.700	1.3	0.824		1.089	1.073	0.960
5.50	0.000	0.000	0.000	0.000	3.007	1.087	0	0.978	1.108	1.051	0.953
3.75	0.000	0.000	0.000	2.452	1.387	0.880	.195	0.98		1.056	0.956
.00	2.828	2.629	2.025	1.355	0.919	0.781	0.891	~	1.120	054	0.953
1.25	1.319	1.250	1.049	1.148	0.785	0.850	1.027	.085	1.092	53	0.977
.50	0.805	0.815	0.777	0.793	0.875	1.025	1.125	1.045	0.959	6	1.004
.75	0.825	0.834	0.875	0.974	1.095	1.122	1.044	.965	0.951	88	1.023
5.00	1.105	1.112	1.133	1.135	1.086	1.012	0.955	50	0.0	1.020	1.021

Treating the inhomogeneous fluid at the two-particle level is equivalent to describing three-body interaction, the fixed particle being the third member of the trio. As we know



correlations reach to the bulk, one away from the top particle and, according to the accuracy used in this paper, the two-level correlation is enough achieve the results and the triplet level is not required.

References

- [1] Sokolowski S 1980 J. Chem. Phys. 73 3507
- [2] Nieminen R M and Ashcroft N W 1981 Phys. Rev. A 24
- [3] Borstnick B and Janezic D 1983 Mol. Phys. 50 1199
- [4] Kjellander R and Mareelja S 1985 J. Chem. Phys. 82 2
- [5] McGough R A and Miller M D 1986 Phys. Rev. A 34 4
- [6] Plischke M and Henderson D 1986 J. Chem. Phys. 84 28-
- [7] Attard P, Mitchell D J and Ninham B W 1988 J. Chem. Phy.
- [8] Bruno E and Caccamo C 1988 Phys. Rev. A 38 515
- [9] Henderson D, Chen K Y and Degreve L 1994 J. Chem. Phys. 101
- [10] Moradi M and Shahri H 2003 Int. J. Mod. Phys. B 17 6057
- [11] Letz M and Latz A 1999 Phys. Rev. E 60 5865
- [12] Moradi M and Khordad R 2006 J. Chem. Phys. 125 214504
- [13] Moradi M and Khordad R 2007 Physica A at press
- [14] Hansen J P and McDonald I R 1986 Theory of Simple Liquids (London: Academ
- [15] Lowen H 1994 Phys. Rep. 237 249
- [16] Singh Y 1991 Phys. Rep. 351 207
- [17] Ram J and Singh Y 1991 Phys. Rev. A 44 3718
- [18] Boublik T 2001 J. Chem. Phys. 115 925
- [19] Fries P H and Patey G N 1985 J. Chem. Phys. 82 429
- [20] Baxter R J 1970 J. Chem. Phys. 52 4559
- [21] Caillol J M, Levesque D and Weis J J 1981 Mol. Phys. 44 733
- [22] Triezenberg D G and Zwanzig R 1972 Phys. Rev. Lett. 28 1183
- [23] Lovett R A, Mou C Y and Buff F P 1976 J. Chem. Phys. 58 1880
- [24] Wertheim M S 1976 J. Chem. Phys. 65 2377

[25] Born M and Green H S 1946 Proc. R. Soc. A 188 10 [26] Yvon J 1935 La Theorie Statistique des Fluids et L'Equation de 'Etat Act vol 203 (Paris: Hermann et Cie) [27] Bogoliubov N N 1946 *J Phys. (Moscow)* **10** 256 [28] Guo X and Riebel Chem. Phys. 125 144504 . Ch [29] Leutheusser F Phys. 84 1050 Tisch H L 1 *Shem. Phys.* [30] Helfand J. Chem. Phys. 34 1037 [31] L 092 s A, de l M L and Yu S B 1995 J. Chem. Phys. 103 4622 [32 [33] Chae D G, Ree and Ree T 9 J. Chem. Phys. **50** 1581 [34] Kirkwood J G Chem . **3** 300 10